H & 0l & AHS B Ml A

20238 =0ila eS| WSt
FA WS
I NA DE23 HE
Eel: NSHEHIANL =HF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
wsut 897,630 689,450 208,180
= 100,000
Al 100,000
- 697,630
&8 WE=2st & 523,477 324,445 199,032
= 100,000
Al 100,000
- 323,477
WSHIAL =5 190,950 117,335 73,615
WSHAEE =HE L 2 190,950 117,335 73,615
201 er23 | 36,200 12,525 23,675
01 At2teltl 3,800 3,800 0
OxtgleNel AHSSH SoAEE FANE2+
1,000,000& 1,000
OXglEAel MHESH ot EXIE M
300,000 *6H 1,800
OHASZE HASE 72
1,000,000 1,000
2 5234l 32,400 8,725 23,675
OHAS2E HI1Q3 82,400
O2g2A HJIRs
60,0002 *B0CH*5IH 2 24,000
OADIE HASZE HJIR=s
200,000& *2I0 2+ 1200 2 4,800
Oodtt HASHE LS
3,000 *1000H A+ 12J0 2 3,600
202 048l 400 400
NETEE 400 400
OuSHIAIE P22 2204l
400,000& 400
203 gF=4| 700 760 260
03 A=A 2= 700 760 260
OusSdd g4 700,000 700
301 EtE NS 3,650 3,650
14 IIEt2d3 3,650 3,650
OxtgleAel ANESH AldE 2l M3
AR AHIE 43 10,0002 *1&+3652] 3,650
401 AlZHIZ SO 150,000 100,000 50,000
01 A28l 150,000 100,000 50,000
Od4Lsdd &1 & 2+
150,000,000 150,000
WSAXNE ?let 2579 oHd 234,000 113,160 120,840
= 100,000
Al 100,000
- 34,000
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SN DEY
Hu: MF DESS HE

=aak E%%%?%E‘o;ﬂ%al EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJE=g 120,000 68 +2& 1,440
o=eleia 18,714,6602 4. 5% 843
CEECET] 18,714,66021+3.495% 655
OFIUDH
18,714,660 *3.495%+12.27% 81
(©Fag=eP\ [o) L= g
18,714,6602 %0.961% 180
(OME=Lh= = 18,714,6602 *1.75% 328
OuSHERYEs HMUHRE 5,333
OpJ== 76,9602 18 402 3,079
OReRd=sE 76,9602 x 1 * 14 1,078
OSUHI(nSHl, =4!H])
10,0002 »1&+40 400
OJE=E 120,0002 18 +2& 240
o=z 4,795,840+ 1B 4. 5% 216
(Craksi-=t=y=3 4,795,840 + 18 +3.495% 168
(OFS@IEeAeli-}=
4,795,8403 3. 495%+12.27% 21
Ot E 2 =
4,795,840 18 +0.961% 47
(OME=Lt= Y= 4,795,840 1 *1.75% 84
201 er2&| 4,597 4,591
01 At2teltl 195 189
ONESLLLT DNA 24 S
65,0002 *38t A 195
02 S3=gHl 4,402 4,402 0
OsE2= & HA 4,402
OunsSmLRY=s UXA &5 REZ 4,402
0|2, =F2(8)
2,530&*1,40021 3,542
%= =(2e) 4303 +50021%43] 860
AH=2Z 3 142,548 144,210 1,662
QIHARAH (RE1) 87,972 81,474 6,498
el 24| 87,972 81,474 6,498
101 @124H| 87,972 81,474 6,498
01 &2 87,972 81,474 6,498
Oz=22=¢ 87,972
OAL22R+E
12,3212 x17H+3BA 2+ 123 87,972
JlE2gdtl(ns) 54,576 62,736 A8,160
JI23Hl 54,576 62,736 28,160
201 2= 18,696 18,696 0
01 At2t2lt] 18,696 18,696 0
OJIZ2 A2/l 15,0003 182~ 123 3,240
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FA WS
;. dH I3
g©elr J2ZHl(nsw) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEETI 13,056
oS2xe 3|
8,000 *17H+8Ax 122 13,056
Ogxz 2,400
OSAPDI SX= 200,000 = 1CH* 122 2,400
202 04l 32,640 40,800 28,160
01 2LHoIH 32,640 40,800 /8,160
OZUobl 32,640
ogery 20,0002 8L+ 178« 12 32,640
203 =4l 3,240 3,240
M FAZSHIFII 3,240 3,240
OJIEA(20Z015t) 300,000 122 x90% 3,240
Hees(ns) 231,605 220,79% 10,810
UWSHAXIE (RS 231,606 220,795 10,810
AU EEH dES 231,605 220,795 10,810
701 JIEtRI NS HES 231,606 220,795 10,810
01 JIEt=I AN ES 231,605 220,79% 10,810
OFXESEH dEs
231,605,000 231,605




